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I Which of the following is a false 1,  fyrferfiad § & =1 %24 5167 2 7

statement?

(@) Every positive odd integer is (a) eI et faem quia B
of the form 2¢ + 1, where q 2g + 1 % B9 1 391 HaEd 7,
is some integer STaT g e oo 2

(b)  Every positive odd integer is (b) Y GTeHF faem W Edl
of the form 4g+ 1 ordg + 3, 4g + | AYAT 4g + 3 % &9 H
where ¢ is some positive vl Wd &, TRl ¢ U g
integer Q;Urf‘o!;%

(c) Every positive odd integer is (c) PICERCE I R T L ‘:L“TTEF El
of the form 6¢ +1 or 6¢ + 3 6g + 1 JAYET 6 + 3 AT
or 6g + 5, where ¢ is some 6g + 5 & B T 9T Gehd 2,
integer STET ¢ Ueh IUTieh 2

(& -5 and -9 are coprime (d) -5 3R -9 gEa19T=T qurfeh &
integers

- The greatest number among 3%, 2, 3% 4% 5% qoy 620 § FaR EES|

4% 530 and 62 s T 2

(a) 4" (a) 4%

®) 5° by &

() 6 © 6

(@ 3 @ 3
.k . _ 0 e 2
3. The decimal expansion of 3. Z—= SE

63 is
T2%175

(a) ®Td
(b) STHTG AT ST

(a) Terminating

(b) Non-terminating and non-
repeating '
Non-terminating and (c) THTT TAT ST

(d) IWH T F FE T

-
B mw » " i/ . A L= : S
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n

If the lines given by 3x+2ky=2 4,
and 2x+ 5y =0 are parallel, then

the value of k 18

8% of the voters in an election
did not cast their votes. In this
election, there were only two
candidates. The
obtaining 48% of the total votes,
defeated his rival by 1100 votes.
The total number of voters in the

winner by

election was
(a) 21000
(b) 23500
(c) 22000

(d) 27500

N

k% fFg WA & forw 3x+2ky =2
qU 24 +5y=0 TIARR @Y

Huike

(a) —%
® 2
© =
@ 3

$% TaeTTsl J TE gE AW
TR 1 WA E R | g
Fa@ @ @ Ifrear ¥ foaEd
Irfiea i Ff Hal & 48% Hd W
7w 3 e e g #1100
T ¥ wWha Bl gEE d@
TART! i F T o

(a) 21000
(b) 23500
(¢) 22000
(d) 27500

e ax? +bx+c=alx—-p)’, @ a.
b Gl ¢ ¥ Gy T

(@) abc=1

(b) _b2==ac
(¢) b*=4ac
(d 2b=a+c
(19)

X
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The sum of all even numbers 7.
from 100 to 200 is

(a) 7450
(b) 7550
(c) 7650
(d)y 7750
How

many of

. 3 .5 2 1
arithmetic series =+ =+ — +
6 3 2
must be taken in order to obtain a

121
_._7
sum of 5

terms the 8.

(a) 33 P
(b) 34 A % /'3
(©) 35 T
(d) 36 o

The sum of all multiples of 7 9.
between 0 and 500 is

(a) 13916
(b) 17892
(c) 24353
(d) 16984

What should be added from the 10.

following, in the expression

' 3x2+2x+l—l-—— to make it a

2x2

- perfect square (x # 0)
(a) 1

100 3 200 & wex wfi @y
GEITH] 1 A7 2

(a) 7450

(b) 7550

(c) 7650

(d) 7750

(b)
(c)
(d)

0 3T 500 % "eg 7 % Gsfi urh} =B
LI

(a)
(b)
(c)
(d)

13916
17892
24353
16984

S 3)«724-2,1‘-{-12l ; T 1 S
%

ST fF e uw gl @ s wm
(x#0)

(a) 1
(b) -2x
(c) 2x-1

@ 12

"""_ :.% :
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11. Tor what values of p is 1l. p & fm om & fau p?-5p+6

p? —5p+6 negative ? " T BT
(@ p<0 . 3 (@) p=<0
\‘P < A i
(b) 2<p<3 TE (b) 2<p<3
() p>3 (c) p>3
d) p<2 (d) p<2
12.  If one of the zeros of the cubic 12, afe FEm @HE ' +ar® +bx+c
polynomial Y rax®+bx+cis 0, Rl Teh [ 0 gl |1 31 2 Sl?l'q’ﬁ
then the product of the other two T UGS BT
ZEeros 1s et T
(a) 0 ' (a) 0
(b) a (b)
(c) b (c) b
(d) c (@) e
13.  If (x**+ax*+bx+06) has (x-2) 13. It (P +ax? +bx+6) H Th
as a factor and leaves a remainder THEvE  (x —2) KGR EERES =
3 when divided by (x=3), then  (x—3) ¥ ®W & T 9% 3 &
the values of @ and b are a 3 b A B
(a) a=-2,b=-1 (a) a=-2,b=-1
. B a=-1,b=-3 (b) a=-Lb=-3
A a:—3,b=—l (C) a=—3ab=_1

=3 5=1 d) a=-3,b=1

d e 0ifcosO=:ll3% and 0 14. ?Jﬁcose=:11—3; Q’éOi@‘Jfﬂ[IIﬁ
s in the third quadrant 2141 tan 0 1 7 41 &1 7

\gA'n (a) 1 e kg C'
Tgln (b) £ f

(c)
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I5.

16.

A person  observed that  he 15.

required 30 seconds less time to
Cross a circular ground along its
diameter than to cover it once
along the boundary. If his speed
was 30 m/minutes, then the radius
of the circular ground s

22
(Take = —7-)

(a) 5.5m
(b) 7.5m
(c) 10.5m
(d 35m

In a rectangle. the angle between 1.

a diagonal and a side is 45° and
the length of this side is 10 cm.
The area of the rectangle is

(@) 100 cm’

(b) 100 /2 cm? \//\
(c) 200 cm’

(d) 200 V2 cm?

In the giveﬁ fig., AOB is a 17.

straight line. If X:y:z=4:5:6,

s @Afth 1 AN AEH % 21 o
SR LA U I TN FA F fefy
% HAHI 6 IIET UN T F 3
HFUE N GUT I 2 | A% s
1 = 30 /02 8@ A Fem

ﬁwﬁTﬁLn=%J
(@) S.5HI
(b)y 7.54i
() 10.5H
(d) 3.54t

Uh SR o Tl v wsh e %
HET 45° K1 IV SAGT 2 | Ife ST
& FE ST 10 cm 1 A S F5
EAHA B
(@) 100 cm?

(b) 100 V2 cm?
(¢) 200cm?

(d) 200 V2 cm?
HEH AR, AOB v T T
SR G
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CQ—:AL VPL},V

E
qy' - ﬂ‘“ v v b =V 'R 7 L
18. 16 Cis the circumference and A is 18, aIf frefl =16 <1 oftfy ¢ va 3w=m

the arca of a circular disc. Then
o TR émAaam%=%a‘raﬁ$r
- if and only if the : o
‘ 1Y hael U e 2

diameter of the circular disc is
(a) 2 (a) 2

n o T
(b) 5 . b =

v ny )
(c) 4 ¢ 2L P, (c) 4
2 Y = =T
T 2L T
Y *y

-

19. Refer the adjacent figure. The 19. @TH SIEan| o, N H R

10 10

sum of the angles S= Y (£/) is S=Y(£Li)®
i=l Z%( I m
o3
2 9

-
. =

: D
N
(a) 540° 2

(b) 360° i)
(c) 1080° h

d 720° O

 sides of a 20. afe Frei THETE =S W1 FEHTA

al. then it is

Scanned by CamScanner



21, Ifare SS'Q (sce figure) subtends  21.

an angle 120° at the center O and
RT is the tangent of the circle at

Q, Z RQS is equal to

R A T
(a) 30°
(b) 45°
(c) 60°
(d) 75°
22. In fig., ABCD is a cyclic 22,

quadrilateral ~ in  which AC
and BD are its diagonals. If

ZDBC = 55° and ZBAC = 45°,

find #ZBCD 5
(a) 75° ,
| b 85° A
s et (=

185° C
B

2 Y o in which point (-4, 6) 23

st H, = SS'Q I % %z 0y
120° =1 =RV AT FTE1 2 a9 R
qaﬁQWWﬂa?{?ﬁ%, Z RQS
S BT

S’
R Q\ T
(a) 30°
(b) 45°
(c) 60°
(d) 75°
AFIT W, ABCD Usk =R Tt 2

& AC aen BD 3m fmf 3
afe Z/DBC = 55° 3fft SBAC = 45°
T /BCD & 2

(@) 75° D
(b) 85° A

() 135°

(d) 8o0° B

(6, 10) @ (3, g A
ﬁmﬁaré%@ﬁa@igﬁ(—{ﬁ)m
RERICERE G SR

(@ 2:7
b)) 1:2
() 3:4
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%2 0% .

9T RT
' RQS

s 2
o 2|

= 45°

If the surfacc arca of a cube i1s 24.

726, then its volume 1s
(a) 343

(b)y 729

(c) 1331

(d) 1728

The radii of bucket are 30 cm and  25.

10 cm respectivelv. Consider the
following statements.

Assertion (A) : The volume of
the bucket will be 50000 cm’:
Reason (R) : The volume can be
determined by subtracting the
volume of two cones made by
increasing the curved surface in
orward direction.

Then which one of the following

= correct choice

Both (A) and (R) are true
(R) is the correct
nation of (A).
(A) and (R) are true
is not the correct

o B
D Buv.

¥
- L2

af freft o 1 gt dae 726 @
A T T I B

(a) 343

(b) 729

() 1331

(d) 1728

T A 1 B e 30
w10 3t ¥ | Fefafeg FaEl ®
T =t |

== O
sfereReE (A) @ STedl 1 ITEAH
50000 TH1’ 2 |
FROT (R) : S FOFAEA
v, 1 9% 98 @ 7w fowm #
G T ITH §Y, o T & HAR A
oTH f3Fam < weha 2 |

frefafea § @ *9 @1 ey 9

&

(@) (A)Td (R)3F T & a1 (R)
aAfirFed (A) 1 T e
21

(b) (A) W (R) EHI ¥ & 9g
FOT (R) Afhe (A) &) @&l
T TE 2 |

(¢) (A)FEF Rg

R
R) & R |

aiw s oo SR

Scanned by CamScanner




26, The mean weight of 150 students 2.

in a class is 60 kg, The mean

weight of the boys is 70 kg while

that of girls is 55 ko, Find (he

difference of number of boys and

girls

(a) 25

(b)y S0

() 75

(d) 100
27. If p, po.

probabilities that certain events

happen, than the probability that

at least one of these events
happens is

@ (I=p)-(1-p,)

....... (I=p,)
®) (A=p)+(1-p,)
22 T +(1-p,)
(&) 1-[(1-p)+(1-p,)
et (1= p, )]
(d) 1-[(1-p)-(1-p,)
....... (- p,)]

The weights of 15 students 28§,
corded as 31, 35, 37, 27,0

43, 37, 41, 34, 28, 36, 44, 4¢

s median of 35 kg. If the

then the new median

....... pn are the 27,

(c)

udh il ok 150 BET % ZHHE 5
I 60 ol @ | ETgehl & Zem w5

w70 fepmn den el & zemm
&1 " 5s fEm R @S ug
deforai ) qen &1 ST 8
(a) 25
(b)y 50
(¢) 75
(d) 100
gl foredl weasnl & =fed 2 6
STT&ER‘TTU:/),,pg ....... p,,%l 9 4
KM Uk "1 o "fed g ) Iiiesd
2
(a) (]‘/’1)'(]_173)

....... (=-p.)

() (= p)+(1-p,)
Tt +(1-p,)
(c) 1—[(1—p|)+(]-—pz)

(d) I‘[(]—Pl)'(]—l?z)

1S B % geumm (Frm &) fim
TR &t o |

31,35, 37,27 29,32, 43, 37, 41,
34, 28, 36, 44, 45, 42

IR 35 fm 21 Al 44 w9

273%46@25@@%’?«%@
HIEAe 11 By

(a) 35
(b) 36
ey 3% [ b
(d) 34
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Hem Rs. (crore)
h—l—.ngmn' cost 10
—()\;crl\cuds A0

COst
anlcu'i.uls cost 60

In a pie diagram the degree of W)

. . J
angle of labour cost s \¢

. RO
Ja) 3
h) 72°

(© 108°
(d) 216°

A box contains tickels numbered 30,
2.3.4,5, ... 100, 101, One ticket
is drawn at random (rom the box.
The probability that the number

on the ticket 1s a perlect squarc s

squestrian” is related 31

e ¥ (FUS H)

il ad | 10

sl ad 30

qupf) @ 60
uuic;ﬁmm':.“;wm.frréawﬁ@ﬁ
fohan f2rf) a1 st ST
(a) 367
(by 72°
() 108°

() 2167

U g § W ge R W 2, 3, 4,
S, ... 100, 101 A &1 @
oo @ U foe grgee Hetan Strar
Y| e g & T B A
rfrehar F1 gt

|
(iﬂ m
4
(h) l—b—f
~ L)
(L) ‘l—(ﬂ
0
(Lﬂ m
e TRfEE (equestrian) =
A 9 frg @ grafe R
(a) RrnfR (gymnastics)
(b) = (archery)

(¢) Rrm@m (gymkhana)
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32.

33,

34.

What is the name of the fust 32,

robot  that  has  been  given
citizenship of Saudi Arabia ?

(a) Rebeka

(b) Sophia

(¢) Anita

(d) Maviah

“KARAN-J" introduced recently 33,

in Indian defence system, is a

(a) Helicopter
(b) Tank

(¢c) Submarine
(d) Aircraft

Before becoming the President of 34,

India, Mr. Ram Nath Kovind was
Governor of which State ?

(a) Tamil Nadu
(by Bihar

(c) Jharkhand
(d) Uttarakhand

Who is the author of the book 35,

‘Asian Drama’ ?
(a) K.M. Panikkar
(b) Gunnar Myrdal
Jaswant Singh

o

quen itz fod wd sra 3
e HINEERAR MRS IECE T
(a) TeA&I
(b wifear
(c) Al
(dy it

- A (KARAN-J) T wandp
gl rar 4 arfae fean 2 9
w27

(a) afcenice

(b)

(c) #HaAHl1A

(d) UHTHTH

o vt Rt ard & gt g
q ud b 115 o AT g 7

e Oforr g’ % wa #

(a) .08, ufqgegs
(b) TEm frde

(c) StHaEq fie

(d) wH.uH, Enfiqgg
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36. Which State of India has recently 36.  wId B RCT R AR 3{3?[ et

declared Urdu as the sccond R s =i frar 2 7
official language?
(a) Telangana (a) AT
(b) Andhra Pradesh (b) 3TFY Had
(c) Tamil Nadu (c) dqfHeHTg
(d) Kerala (d) oL
37. In the Prcamble of Indian 37. widlg "fagm sl wemEAl I fy= |
Constitution, which of the g F1  erfieafes w1 TR {6
following expression is used ? T 8
(a) All the people of India (a) TR o @I TR
(b) United people of India (b) A % T AT
(& We, the people of India (c) BH, W % AT

(d) People of our India (d) B9R 9Hd o AT

38. The Khalji dynasty was founded 38. Raerst 991 o1 TEATTS ehid o1 ¢

by
(a) Alauddin Khalji (a) IAREA Raersit
(by Ghiyasuddin Khalji (b) firmggn Rawsi
(¢) Jalaluddin Khalji (c) el Raersl
o (d) Bakhtiyar Khalji (d) Wi faers
Fr7-0-z7 foren feren 2 7
(a) EARFIEAF
EEEEIS
(c) Ll
(d) =
[P.T.O.
. il
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40.

41.

43.

Which city will host the 2022 40).

Commonwealth Games ?
(a)  Vancouver

(b)  Birmingham

(¢)  Melbourne

(d) Colombo

Where is Bayt al-Maqdis situated 41,

(@) 1 Egypt
(b) in Saudi Arabia
(¢) 1nlraq

(d) i Palestine

One of the following companions  42.

1s popularly known as Jamiul
Qur’an (Compiler of the Qur’an)
(a) Hadrat Umar

(b) Hadrat Uthman

(¢) Hadrat Al

(d) Hadrat Abu Zar al-Ghifari

Which caliph is known as ‘Abu 43,

Turab’ ?

(a) Al

(b) Uthman
(c) Abu Bakr
(d) Umar

g A @ @A WA 2022 %
e el 1 AP 7

(a) AP
(c) HeAdH

-

(d) elerl

et TR el (7o 2

(a) fomd
(b) FZdl A T
(C) T T
(d) fip fereei= o

0§ Al SHiEE FAAE 2
T 2

(a) 347
(b) 34
(c) Al

(d) 9 57 1A T

A_ 9 - .
A U 68 IATH =1 Fa] e
27

(a) 37l
(b) FH19
(c) 9 7
(d) 3m%
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44. The first sultan of the Delhi 44. ol Geaad 1 T8 Yea™ 91
Sultanate was

(a) Qutbuddin Aibak (a) FEEH S
(b) Ghiyvasuddin Balban (b) TRHER seed
(c) Alauddin Khalji (¢) TSR Raesi
(d) Firoz Shah Tughlaq (d) TS TR T
45. The mystical work ‘Majma al- 45, g% &% AH I EISGEREoE
Bahrayn™ was written by ot 2
(a) Aurangzeb (a) FTNE
(b) Data Ganj Bakhsh (b) & 7S] S
(c) Dara Shikoh (c) T firrrE
(d) Abdul Haq Dehlawi (d) I7eg B el
46. Which of the following books is 46. f=fafas =l § ¥ &4 € WE
written by Shah Waliullah ? TeTSeaTe A ot 2
1 (a) Hujjatullah al-Baligha (a) EoSIgeaITe e STier
-t (b) Asbab-i-Baghawat-e-Hind (b) SrEe ST
?.HI_I- A () Qawl-i-Mateen dar Abtal-i- (c) F AAHA T AT ehd
Bl | Harkat-i-Zamin SHA
Khutut-i-Alamgiri (d) Ead-T-ITAH

atific Society was established 47.  TERfhT HiaTEdl 1 Tomum F@l €8

(a) O H
(b) foeemd

(c) ereAmed
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49.

50.

The  Khilafat
initiated by

(a) Mohammed Ali
(b) Shaukat Ali

(¢) Mohd. Ali Jinnah

(d9 Muhammed Ali and Shaukat
Ali

Who planted the ‘Tree of Liberty’” 49,

at Srirangapatnam

(a) Hyder Ali

(b) Tipu Sultan

(¢) Banda Bahadur

(d) Bahadur Shah Jafar

Which holy book was translated 50).

as the ‘Razmnama’
(a) Ramayana
(b) Geeta

(c) Mahabharata
(d) Adi Grantha

Movement was 48.

- N se——

u=0

sfomueg # ‘A Ug Rl
IETERThICI

(a) B Al

(b) g FearH

(c) T SRIg

(d) STETGL 21T ST

T R e Tee # srEme
2

(a) THEY
(b) i

(c) Wervrg
(d) omfemmer

% _ %ot 12

ML P
20
o= wmlg* £ % ke

Ve us ot .
B awouh) 0}
o3 % o L" ) e !

o oy = I
|’
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51. A train covers half of its journcy 51.

at a speed of 10 m/s and the other
half at a speed of 15 m/s. The
average speed of the train during
the whole journey is

(a) 12.5m/s

(by 12.0m/s

(c) 7.5m/s

(d) 5.0m/s

52. A motor boat starting from rest 52,

on a lake accelerates in a straight
line at a constant rate 3.0 m/s” for
8.0 seconds. How far does the

boat travel during this time?

(ay 24m
(b) 64 m

(¢) 96m
(d) 192m

53. From the top of a building 40 m 53,

tall, a boy projected a stone
vertically upwards with an initial
velocity of 10 m/s. After how
long will it pass through the point
from where it was projected ?
(Take g = 10 m/s”)

(a) l second

ek TATEl IO AT AR AT 97
101n/s7mpfﬂf?fﬁ%37l?ﬁ%,3m
ZE ST 9 15 m/s 1 A H
et 2 | T AT F G e
aiterq nifa o= Bt 7

(a) 12.5m/s

(b) 12.0m/s

(c) 7.5m/s

(d) 5.0m/s

w Hiewe e § famEeen @
et Tt 9y W 3.0 m/s” & e
1 & 8.0 YRS ek FeAdl & | 39
g araTe § "It e Rt gl
qg A 2T
(a) 24m
(b) 64m
(c) 96m
(d) 192m

ush A Rreeh! SR 40 HIKX 2, TR
AT 39T B ° U e 10 m/s
¥ 37 @ eater feun # S & AR
ST 2| UeheH hifse fo foRaA
gug ¥ UTEN R 39 e o
TR, STRT § el TRIT o1 7

(g =10 m/s%)

(a) | EFTE

(b) 2TFS

(c) 4FFTE

(d) 6HHTS

442"

3.%4
4\ 10‘“0

Rxa Y2 [P.T.O.
o ;
E.

—
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s [l ;f;,:—--»-‘
§4. A force acts for 10 seconds on a 54, TH 1077 kg 5= Bzl ‘

48 2 1o initially at wrefearh fERTATaEat o 2 10 fra
body of mass 10 ~ kg, initially - . N
rest, after which the force ceases fee @aa gzra”ﬁtnﬂ d s,
to act. The body traverses 0.5 m REEICH 5o :
in the next 5 seconds. The 34”5"%5 SERE %W il '®
magnitude of the force is e el 2 | T AT 1y

e 0 . \d?\cf’& ﬁﬁ—'—‘n%?
m” 9.8 N

(@) 9.8N . (a) N

¥ (b) 98N (b) 98_2
(d 10°N (d 107N

55.  Two particles of masses m and 55, 31 fug fSqeh g=gmm m, 3 m o

my have equal kinetic energies. 3R 3T TS Sl Ty B3
The ratio of the magnitude of HAT o R STIAT T ?
their momenta is

50

. (@) m :m, @  mym,

:. (b) m, m _ (b) m, :m,
CENEN ©  my fm,
(d) m:m? (d) mpm?

56. How much momentum will a 5.

U 10 kg 5= ) 51 80 cm A
dumb-bell of mass 10 kg transfer 'm§ g | gy sraEn 7
to the floor if it falls from a qﬁmq;ﬁq(;mmﬁa‘g'aﬂaﬁm

height of 80 ? i MO
(Tail; = IOcrrrl:/sz) 3 " i =

< Al (ﬁ‘"@ﬂ%g: 10 m/s?)
(a)‘ 10 kg m/s o

J 7/17)'\ (a-) 10 kg m/s

m{s e 1
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§7.

58.

If R is the radius of the carth and 57,
g 1is the

acceleration due to
gravity on the surface of the

carth, the mean density of the
carth is

(a) i—g’%
® T
(¢) l;ig
@ TR

A block of wood is kept on a
table top. The mass of a wooden
block is 5 kg and its dimensions
are 40 cm x 20 cm x 10 cm. Find
the pressure exerted by the
wooden block on the table top if
it is made to lie on the table top
of dimensions

with its sides

20 cm * 10 cm. (Take g=10 m/sz)
(a) 1000 N/m’

(b) 1500 N/m’

) 2000 N/m’
- 2500 N/m’

58.

afa gedt 1 B R 2 3 e
@ gedl ) Tde W g 2 | gedl #
Ferd wed foha1 2 7

InR
W 3G
4nG
® 3w
4RG
©) g

@ mor

U @el I RN US W Tl |
TS 3 T2 1 SIAM S kg ® 49T
=gt fgmmd 40 em 20 cm x 10 cm
3| TSl & ghe g AN W I
IS ae I FA i Afe gHeh!
fmmd 20 cm x 10 cm = Td8 IS W
T ST 8 1 (g = 10 m/sY)

(a) 1000 N/m’
(b) 1500 N/m”
(c) 2000 N/m’
(d) 2500 N/m’
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59.  Which one of the following 59. feaferfiaa f &1 A1 HAT w1

statements 1s not true ? 27
(@) The magnitude of buoyant (a) Ie=ATEA =<l hl TR &
force does not depend on the o ot fsf e e 2
density of the fluid
(b) Force of gravitation due to (b) el FT e SH A
— the earth is called gravity W sel 1 e e
== #ed @
m (¢) The atmospheric pressure at (c) W@a F1 Z19 HHZ ) Hefe
= sea level is 10° Pascal 7T 10° T 2
Q.J (d) Relative density has no unit (d) @AafereR g i IS HTHF AH
(@ #ra
—
m 60.  The audible range of hearing for 60. =E] T =afy F1 = el 3Tl§'ﬁ-|'€ﬁ
3 average human beings is in the 1 Fa afer fra sgfa o feg
~ frequency range of g e 2
(a) 5Hz-10kHz (a) 5Hz-10kHz
@ (b) 20Hz - 15 kHz (b) 20Hz- 15 kHz
| QJ (¢) 20Hz-20kHz (¢) 20Hz- 20 kHz
| 3 (d) 1kHz 20 kHz (d) 1kHz 20 kilz
S_ 61. How many bulb.s 'of re'sistance 6 6l. 6 Q ufeia & o vy o
(D ohms should be joined in parallel gaifsrg oy EIDRCAR IRV e
N to draw a current of 2 amperes 2 A T wEY oW

- from a battery of 3 volts ?
\ L (a)
K3

< b ~4 (b)
(c)

o o B N
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62. T'wo conducting wires of the 62. 3 Ic® anr 9% w2, F=E 741

same  material and  of equal =g §qE g, e ﬁﬂ\‘a afrag 3
lengths and equal diameters are 9=a Aviisnn § iR i 3 favars
first connected in series and then qdwy o gafea 5 9h 2
parallel in the circuit across the SufiEy qYl 9NEFE T 5 3004
same  potential  difference. The FET & ga-q-mamg‘pn?

ratio of heat produced in series

and parallel combination would

be

@ 1:2 AR @ 1:2
) 21 (b) 2:1
¢y 1:4 (c) 1:4
(dy 4:1 (d 4:1

63. A rectangular coil of copper wires 63, TF F R FI TF JAFAER Tl

is rotated in a magnetic field. The et =g &3 7 il 71id &
” direction of induced current 2| 3@ Teodl ° Y@ foge g =
changes once in each fem 4 frqe dfomw & 9w

- & aftEd g ?

.
(@) two revolutions (@) 2
) one revolution (b 1

half revolution © _l_

: 1

e-fourth revolution (d) 1

v of A.C. mains in 64, W@ ® AC F I forei 2 7

(a) OHz
(b) 50Hz
(¢) 100 Hz
(d) 200 Hz
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66.

Fight travels through o plass plate 65,

of thickness ¢ and having
refractive index . If ¢ is the
velocity of light in vacuum, the
time taken by light to travel this

thickness of glass is

(a) t/ne .
(b) nile :—T; \
(¢) n't/e . U

() /n'c

The focal length of a convex lens 6.

15 40 cm. Its power, in dioptre, is

v 3

AL '/E(C‘
(a) 0.4
by 2.5
{c) -2.5
(d -04

A concave lens of focal length ¢7.

I5 cm forms an image 10 cm
from the lens. How far is the

~object placed from the lens ?

ye
kS o \
e i
o
e )

Tyl U e A e, el e
laﬁxmﬁn%,ﬁmﬁm
¥ ufz o Fata o g 6 =1 2 @
ehTel T A 36 W1 i OE A 5
feru fepaan woe < 7

(a) t/nc
(b) ntle
(c) n'tlc
(d) e

Uk 3eel ¥ & B g8 40 cm ® |
T oW ) el eetier § fpa
27

(a) 0.4

(b) 2.5

() -25

(d) 04

15 cm%@ﬁﬂﬁﬁmﬁr\q
%Fﬁﬁlﬁmuﬁﬁwﬁ?ﬁ 10 cm

{ﬁwmélﬁmﬁaaﬁaﬂgﬁ
9 feerg 2 7

(@) 15¢m
(b) 25c¢m

) '13% (©) 30cm
b Ty

(d) 35¢m

Scanned by CamScanner




68.  The formula of oxide of metal 68

‘M as MO, What will be the
formula of its phosphate ?

(@) M, (PO,

(B M (PO,),

(e) MPO,

(d) M, (POy),

69.  Which of the following will show 9.

“Tyndall effect™?

(a) salt solution

(b) milk

Ac)  copper sulphate solution

(d) none of the above

70.  Colloid is a 70.

(a) homogeneous mixture

(by heterogeneous mixture

(c) solution
(d) both (a) and (b)

Alkaline KMnQOy4 +heat -

~ CH;-COOH
In the above reaction, alkaline

KMnQ, acts as

Oxidizing agent

CH,-CH,-OH 71.

I M TSR A A MO 2
SHh IR 1 44 1 w7

(a) M, (PO,
(b)y M (POy),
(c) MPO,

(d) My (POy),

iﬁl—_-l Afigd II o #H “i-?_v’-,c;l ‘J'q'l_q'"

(d) (a) AR (b) ZHT

CHs-CH,-OH
& KM, Oy +38
CHs~COOH 5
IWRE TEEEE A § g
KM, 0, 98 11 2
(a) HATFHT=FTF
(b) FTo=TEF
(¢c) I
(d) frsfefmrs

e, (1 OF —> CHy LoOH
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72, Melung of wax is 72, i e frgen R

(@) Physical change (a) it afrada
(b Chemical change (b rrrafoe afiads |
e tion
(¢)  Oxadation reaction (c) 39944 wfufFa (oxi
reaction)
e ik (reduction ¥
(d)  Reduction reaction (d) sAaand wfuiEa :
reaction)

73.  The number of aluminium ons 73, 0.251 g AlO, (Ao z2m =

present in 0.251 g of AlO, 102) 1 frea oeyrifaan s 2m
(molecular mass - - 102) are
(@ 2.96x 10"

(a) 2.96 x 14*
(b) 2.96 = 10"
(c) 1.48 « 10"
(d) 1.48 » 1%

(b) 296 x 10"
(c) 1.48x 10"
(d) 1.48 x 10%°

74.  Bleaching powder is prepared 74.

sefifam g (fris 7o) amry
from the reaction of TR iyt 2

(a) Slaked lime and chlorine

(@) W I 230 g vd e
61 srfufan

(b)mﬁmﬂﬂawrﬁqeﬁt
il

(b) Quick lime and chlorine

(¢) Burnt lime and chlorine

Calcium and chlorine : o
E«

ST B ‘&aqw?:* C\ mﬁm‘l f': |
0
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75.  Duning the process of extraction, 75,

sulphide  ores  are  usually

converted into
(a) Sulphates
(b)  Oxides

(¢) Hydroxides
(d) Sulphites

76. A solution contans 25 g of 76.
common salt in 75 g of water.
Calculate the concentration in

terms of mass by mass percentage

of the solution

(3) 25%
(b) 50%
(c) 75%
(d) 0.50%

77. Which one of the following types 77.

of medicines is used for treating
indigestion ?

(a) Antibiotic

(b) Analgesic

(¢ Antacid

(d) Antiseptic

‘Which of the following is not a 78,

Fyeapdm fam § aeerge wae fFem
afrafda zran 2

(a) "2 o

(b) ATFEZE 4

(c) EEZAEEEE

(d) He®EZH

v faemd & 75 g faomE 74 F
25gmmmﬁ'§m?lm
1 Higan 2t

(a) 25%
(b) 50%
(c) 75%

d) 0.50%

fefafaa 0 fFm 9w F1 oz
HAT=H (indigestion)?aﬂﬁ# fem
PN G-

(a) USaTIeH

(b) TATESIEE

(c) u-efire

(d) udtEfes
fr=ferfiaa § & *19 =1 &7 (base)
T BT

(a) NaOH
(b) KOH
(c) NH,OH
(d) C,H;0H
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80.

81.

& .;'.,I:'!‘ﬁ. |§ a

)

Na:SOuq + BaCloag
BaSO4t2NaCliyg)

The above reaction 1s a

(a) Decomposition reaction
(b) Redox reaction

(c) Displacement reaction

S,d) Precipitation reaction

Which is not a homogencous
mixture ?

(a) Brass

(b) Bronze

(c) Steel

(d) 24 carat gold

A metal ‘M’ forms an oxide with
the formula MO. If metal ‘M’
belongs to the third period of the
modern periodic table, what is the
atomic number of metal ‘M’ ?

1
(b) 12

79.

80.

81.

NaySOuqaa) BaClyag —
33504(5)’F2N3C1(aq)
Juyileh AR @

(c) %I
(d) 24 e F e

4T ‘M’ % eSS 1 gF MO 2 |
afg arq M’ e eTEd A %
offeR 3T1ad o 2 1 A M’ 3T TET
FHTE 8 7

(a) 11
(b) 12
(c) 20
(d 13
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82.  Which s an  cxample

decomposition reaction ?

(@) NH;CNO — NH,CONH,
(b) Fe+ CuSO,; — FeSO, + Cu
(S) 2H,0 - 2H, + O,

(d) CaO + H,O — Ca(OH),

83. CH;CH-.OH 83.

Alkaline KMnQO,4
or

.ACldlﬁEd chrzo—/

t

Heat
The product 1s
(a) Acetaldehyde
(b) Acetic acid
(c) Ethanol

(d) Potassium ethoxide

of metalloid ?
(a) Caesium

~ (b) Aluminium

Gallium

ol 82,

Which one is the correct example 84.

WA |1 s sl 1 A
27

(a) NIH4CNO - NH,CONH,

(b) Fe+ CuSO; —» FeSO, Cu
(c) 2H,0 — 2H, + O

(d) CaO + H,0 — Ca(OH),

CH,CH,0OH
A KMnOy
e sreA K, Cr, O
+ 7

........

fepa®et (product) 2
(a) UHfozRTEE

(b) UHifer Uftre

(c) UM

(d) dreferm gUIRTES

fye1 § © %4 €1 394Tq (metalloid)
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85.  Gustatory receptor is responsible 85,  TpETar filtet (gustatory receptor)

ol .
for detecting the mmwwﬁ%mm@%? ‘ v
(a) Taste (a) ¥M<
(b) Smell (b) T
(c) Pressure (c) =
. (d) Temperature (d) a9\

86. The basic filteration unit of 86. Tg# A i 4 THE FAEY

kidney is
(a) Ureter (a) 3{\’:—&
(b) Neurons (b) QET:H
(¢) Nephrons (c) FFRTY
(d) Bowman’s capsule (d) = FEE
87. If a yellow seeded varicty of peca 87. =ufe fiet Wex % =fist =1 &¢ &isi © &1
: is crossed with a green seeded P s, @ P, S # meft e
A variety, then in F, all the seeds foFm T B 7
will be
- (a) Green (a) =
- - (b) Greenish yellow (b) =191 dier
¢ w (c) Yellow (c) diem
~ (d) Yellowish green (d) drem s =D

0 special cells in a stomata, 88§.

) Y fog (stomata) & =i A A
nding the tiny porc are ferer =hiferehnd o et 8 7

(a) wfsufert wifemrm
(b) ZR-FifymErm
(c) ufteda Fifymm
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80. The  plant

promotes the cell division ig

hormone

(@)  Gibberellin
(b)Y Auxin
(¢)  Cvtokinin

(d) Abscisic acid

90. Inanccosystem the producers are 90

Sa) All green plants, algae and
fungi

(b)  All green plants and certain
blue green algae

(¢)  All micro-organisations and

decomposers

(d) Grasses only

atmosphere is a product of
(a) Infrared radiations
(b) UV radiations

(¢) Atomic radiations

(d) Infrared as well as atomic

. radiations
g

Placenta is responsible for 92.

tc materials

which 89,

- 9]. Ozone at the higher level of the 91.

da1 fawem &1 YER HH | FEEA
Ha e ?

(a) forssitfer (gibberellin)

(b) 3T (auxin)

(¢) mﬁiﬁl’s{ﬁq(cytokinin)

() ufslfirer vfiig (abscisic acid)

ariferfaes -
IcqTee 8
(a) |t g N, Tt TR Eh

(ecosystem) &

(b) @sft R qig oI g8 it &

AT
(c) @t gem sfig R famea=nl

(d) fok =™

AN (ozone) T W& &+ IH
T o foFoe gR1 ST Bt 8 ?

(a) FTHRe fafewo

(b) it fafseeo

(c) ormmYy ferfehrer

(d) FHRE & My & wmmy faf

I (placenta) 9 &M & fau
IR & ?

(a) O, TiEd= g

(b) HE ETHU T &

(c) T[T T ftad B

(d) IR Th
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93.  Pscudococlome is present in 93.

(a)
(b)
(c)
(d)

94. The materials such as starch, oils 94.

Nematodes
Annelids
Coelenterates

Echinoderms

and protein granules are stored in

which of the cell organelle ?

(a)
(b)
(cr
(d)

The tissue which makes the plant 96.
and stiff is

Mitochondria
Lysosomes
Leucoplasts

Chromoplasts

95. Branched and uninucleate muscle 95,

cell is the characteristics of

Heart muscle

Smooth muscle
Skeletal muscle
Both (a) and (b)

erenchyma

q@iﬁi’hﬂ (pseudococlomc) fFa d
ez 2 7

(a) Sqr2r2d (nematodes)

(b) vAfeAzH (annelids)

(c) HeA=22A ( coelenterates)

(d) ZopTZATEH ( echinoderms)

2, @ it e A S Giepl
g 5@ At (cell organelle) a
w2 AT 2 7

(a) UTZZ TR AT (mitochondria)
(b) HAEET (lysosomes)

(c) FF‘I’M (leucoplasts)

(d) FHETEARZH (chromoplasts)

Zeft @@ (branched)  #HE
W (uninucleate) TEafET
(a) ot =1 grausft

(b) BT AR

(c) hehTel TS

(d) (a) ¥R (b) 2

FH A FdF (tissue) 919 F1 34
AN F L ZAR 7

(a) TFAT=HREE]

(b) T=mrEay
(©) Wﬁm
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97.  Sleeping sickness is caused by 97

(a)

Leishmania sp

(b) Aedes sp

(c)

Trypanosoma sp

(d) Ascaris sp

908. Two chambered heart is

the 98.

characteristic of

(a)
(b)
(c)
(dr

99, In

®
(b)

(c)
(d)

Fishes
Amphibians
Reptiles

Mammals

human  beings  Sex s 99.

determined by

X chromosome
Y chromosome
Both X and Y chromosome

A and B chromosome

A “"-\eel seeds arc characteristic  100.

1z 1 sfrl for o Er 2 7
(a) AT gl (Leishmania

sp)
(b) vl ugdl (Aedes sp)

(c) Wmm

(Trypanosoma sp)

(d) uERT @l (Ascaris Sp)

o1 whet Tl ged fRE H U Sl @

(a) |H (fishes) q
(b) SreEem=R (amphibian) k|

(c) Fﬂﬁq(reptiles)ﬁ
(d) AT (mammals) |

it 3 fom foress g faffa g
37
(a) X TR

(b) Y I
(c) BHI X 3T Y TorEd

(d) A 3N BIRA
Tefsh) SAeror fore o Ui ST © 7

(a) e (gymnosperm)

(b) ald"“FlR_‘v'l (bryophytes)
(c) dATEEH (thallophytes)
(d) fErFEed (pteridophytes)
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